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#include <algorithm>
#include <cstdio>
#include <cstring>
#include <iostream>

using namespace std;
const int N = 1000010;

char s[N];

int n, w, salN|], rkiIN << 1], oldrk[N << 1];
/000000 rk[i+w] OOOOOOOOOOOOO
/0000000000000 000000000000000O0

int main
int i, p;

scanf("%s", s + 1);
n = strlen(s + 1);
i=1; i<=n; ++i) salil = i, rkli] = s[i

w=1w<n;, we<<=1
sort(sa + 1, sa +n + 1, int x, int vy
rkix! == rklyl ? rkix + w| < rkly + w
; /00000 lambda
memcpy (oldrk, rk, sizeof(rk));
/0000 rk DOOOOO rk OODDOOOODOOO
p=0,1i=1; 1i<=n; ++i

oldrk|sali == oldrk[sali - 1 &&
oldrk|sali] + w| == oldrklsali - 1] + w
rklsalil] = p;
rkisalil| = ++p;

(/0000000000000 rk ODOOOODOOOO

i=1; 1<=n; ++1) printf("%sd ", salil);

0;
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#include <algorithm>
#include <cstdio>
#include <cstring>
#include <iostream>
using namespace std;

const int N = 1000010;

char s[N];
int n, salNl, rk[N << 1], oldrk[N << 1], id[N], cnt[N];

int main
int i, m, p, w;

scanf("%s", s + 1);

n = strlen(s + 1);

m = max(n, 300);
i=1; i <=n; ++i) ++cntirk[i] = s[il];
i=1; i<=m; ++i) cntli] += cnt[i - 1];
i=mn; i>=1; --i) salent(rklil]--] = 1i;
w=1 w<n, w<<=1

memset(cnt, 0, sizeof(cnt));
i=1; 1i<=n; ++i) id[i] = salil;
i=1; 1i<=n; ++i) ++cntirklid[i] + w];
i=1; i<=m; ++i) cnt[i] += cntl[i - 1];

i=mn; i>=1; --1) salcntirk[id[i] + w]|]--] = id[i];
memset(cnt, 0, sizeof(cnt));
i=1;1<=n; ++1) id/i] = salil;

i=1; i <=n; ++i) ++cntlrk/id[i ;

i=1; i<=m; ++i) cntl[i] += cnt|i - 1];

i=mn; i>=1; --1) salcentirk[id[i --] = 1id[i];
memcpy (oldrk, rk, sizeof(rk));

p==0,1=1; 1 <=n; ++i

oldrk|sali == oldrk[sali - 1 &&
oldrklsali] + w| == oldrk[sali - 1] + w
rkisalil] = p;
rkisalil| = ++p;
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i=1; 1<=n; ++1) printf("%d ", sali
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0 oldrk[sa[i]] == oldrk[sa[i - 1]] && oldrk[sa[i] + w] == oldrk[sa[i - 1] +
wl]ODOO cmp(sali], sal[i - 1], w) Jbool cmp(int x, int y, int w) { return
oldrk[x] == oldrk[y] && oldrk[x + w] == oldrk[y + w]l; }[J

googod

#include <algorithm>
#include <cstdio>
#include <cstring>
#include <iostream>

using namespace std;
const int N = 1000010;
char s[N];
int n, sa/N!, rk(N!, oldrk/N << 1], id/NJ, pxIN!, cnt[N];
// px[1i] = rk[id[1]]00 000000000 px[
bool cmp(int x, int y, int w
oldrk|x] == oldrk|y| && oldrk|/x + w| == oldrkly + w/;

int main

int i, m = 300, p, w;

scanf("%s", s + 1);
n = strlen(s + 1

i=1; i <=n; ++i) ++cntirk[i] = s[i]];

i=1; i<=m; ++i) cnt[i] += cnt[i - 1];

i=mn; i>=1; --i) salent[rk(i]l]--] = 1i;

w=1,w<n, w<<=1, m=p // m=p 00000000000
p=0,1i=n;1i>n-w;, --i) id/++p]| = 1i;
i=1; 1i<=n; ++i

salil > w) id[++p] = sali] - w;
memset(cnt, 0, sizeof(cnt));

i=1; 1i<=n; ++1) ++cntipx[i] = rk[id[i ;
i=1; i<=m; ++i) cnt[i] += cntl[i - 171;
i=n; i>=1; --1) salcnt(px[i]]--] = id[1i];

memcpy (oldrk, rk, sizeof(rk));
p=0,1=1; 1<=n; ++i
rklsalil| = cmp(salil, sali - 1], w) 7 p : ++p;

i=1; 1<=n; ++1i) printf("sd ", salil);
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<hidden>

#include <cctype>
#include <cstdio>
#include <cstring>
#include <iostream>
using namespace std;

const int N = 1000010;

char s[N];
int n, salN/, id[N]/, oldrk/N << 1], rk(N << 1], px/N!, cnt[N];

bool cmp(int x, int y, int w
oldrk|x] == oldrkly| && oldrk|/x + w| == oldrkly + w/;
int main
int i, w, m = 200, p, L =1, r, tot = 0;

cin >> n;
r=n;

i=1; 1i<=n; ++i
lisalpha(s|[i] = getchar

i=1; 1i<=n; ++1) rkli]l = rk[2 *n + 2 - i] = s|i
n=23n+1;
i=1;1<=n; ++1) ++cntirkii];

++i) cnt[i] += cnt|i - 11;
--i) salentirkiill--1 = 1i;

.
Il
20
= -
vV A
o
o3

wW=1,w<n, we<<=1, m=p
p=0,1i=mn;1>n-w; --i) id[++p| = 1i;
i=1; i <= n; ++1i
sali] > w) id[++p] = salil - w;
memset(cnt, 0, sizeof(cnt));

i=1; 1i<=n; ++1) ++cnt[px[i] = rk[id[1i ;
i=1; i<=m; ++i) cntl[i] += cntl[i - 11;
i=n; 1>=1; --1) salent[px[i!]--] = id[i];
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memcpy (oldrk, rk, sizeof(rk));

p=20,1=1; 1i<=n; ++1i
rkisalil!] = cmp(salil, sali - , W) 7?2 p : +4p;
1l <=r
printf("%sc", rk[l] < rk[n + -r] ? s[l++] : slr--1);
++tot) % == puts("");
</hidden>
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$height[rk[i]\ge height[rk[i-1]]-1$
ogg
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i=1, k=20; 1<=n; ++i
k) --k;
sli + k] == s[salrk[i] - + k) ++k;
ht(rk[i]] = k; // heightOOOOOOAht
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